MPM 2D1 Quest on Analytic Geometry Name:

Knowledge | Application TIPS
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Knowledge:
N
1. Given the points A(-1,5), B(2,9), C(-4, 8),then determine the following:
a) the slope of the line passing through AB . l-lé
N 9, 9! - Q-5 y
2] AR T %X, 2-() 3
b) the slope of the line perpendicular to the line segment AC . 4
_ Y-y 9.5 3 o —>
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[2] xﬂ.-xl -q- .') ‘-l
c) the midpoint of the line segment BC.
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d) the exact length of the line segment AC . Bﬁ
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2. Determine the equation of the line in standard form that is perpendicular to the line 3x—6y+8=0
and passes through the point P(-1,2). P N rcl
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Application:

3. The point F(3,—9) is the midpoint of the line segment JK. If endpoint J is located at (x, 2) and K'is
located at (17, y), find the value of the missing coordinates. J(X ,_)
Mideaint (3,79) '
(4] . X Y
2-3=Xtt 0 (1.-9=249 .9 L ox=—l F(3,-9)
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x="l1 (9="20° Ky
4, On the grid below, draw triangle with vertices A(4,8), H(—4,-2), and S(8,—8). Draw a

labelled diagram of the median from H to AS. Determine algebraically the length of the median

from H to AS. y ALY
AS AlY4:3)-
Shepl . Midgaint of. A3 ‘f '
[4] - o 6 7 \
Tley) = (43, ?L:'j)} (¢ ) s/
Otepl. lnzre’Hﬂ of wmediqn H(-42) _f(bg) T i;,?)

—1

\
: \
2 987654 -/-{- : :.:.-:r'z'*'
= \( (4= + (279 gy, 4

- /l00+q Y x
oI\
= {[ou _:\(—E{Tf::g\—{gﬁ “5 ,-—?)

. [ £
. The dﬂ:f“’ ot fn, m.:d.gn ' 2z
5. On the grid below, draw triangle TRW with vertices T(—7,3) R(—3,9) W(9,1) . Draw a labelled diagram

of the altitude from R to TW. Determine algebraically the equation of the aItituds.

o
N
A ’\

nv

—

— — / \ My, z
[5] 1) 5'OPC \D'p R'P is zoff' fle"—, O]c _rw _s\) \J:! U
3-1 _ 2 -— |m__-% i A
v =Y __ = = (PN C
-Tw _.?__ﬂ -l‘b g QP by / _i:? ~N {_‘_
Kty I ——— N N 4
2-) U=M(X-T—J)+ol R('?),c‘l) W\'ZP:? 9 -8 -1 6 5 4 ,2 10| 1 73567189 "%

U =93 [x-(%ﬂ-l-o‘
a=‘€(k+3)*cf
a.-.@x-l-lu-kq

‘3:8;(4-33[

“The cquetion o6 B s gy

© oL d b A bbHol T PHEIAQ

Page 2 of 4



6. The coordinates of two towns are T(8,3) and G(2,—9). Plot and label the two towns on the grid
below. Draw a labelled diagram of the perpendicular bisector of the line segment joining these two
towns. Determine algebraically the equation of the perpendicular bisector. If the two towns have
decided to build a recreation centre at (—5,2) , determine if this is a good place to build. Justify

your answer. You need Ualoi’e. \@Pﬂ:'n+(ﬂi‘dfo?n+)
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We need 4o see £ 1he recrootion Cen-f'(zbc'-yl.qnc,_ i eqqa{ ‘F(Om both
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Qistanae From Hown & = \((_1;_2)"4. Ea-(-q)i;; \[ 49 +1 ‘(l?—O

distance fronm town T = \((*5-9)L+(1“331' .—_\[IH-H =\[ 70
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TIPS:

7. Determine the shortest distance from the point Q(5, —4) to the line 4x — 3y + 18 = 0. Include a
fully labelled diagram. Include an algebraic solution. 7,4 Pol D (\m = "’é
y
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